D 11 @ 17 ® 23 @)27 ® 29

300]ste] &A= 2, 3,5, 7, 11, 13, 17, 19, 23, 29 ©|t}.




2. T F oF50] 5Tt g2 she?

O 3t @ 23 x32 @ 33x 72

@ 32x5x7 @25x52

~&B

27ke] opse] A4S T5hA thet 2k,

@11+1—12(7H)

@ (3+1)x(2+1) =12 (1)

® (B+1)x(2+1) =12 ()

@ @2+1)x(1+1)x(1+1)=12 (7h)
®GB+1)x((2+1)=18 (7h)




16, 32, 48, 64,---

6, 12, 18, 24,---
@ 69w @ 169 w5 B)asol ups
@ 96 2] vl ® 1129 vj5

A F9] S 169 Wj4olm, A F9] S 69 W40l Bg
16 7} 6 ©] HAgu)4el 48 o] w47} et




4. 2x2x3x3X3xX2x2x5x5 5 2 xP x5 T o x+y+z9
= totofet

> E.

> ®e: 9

2X2Xx3Xx3x3x2x2x5x5=2*x33x520]|EHZ2
x=4,y=3,z=2
L x+tytz=4+3+2=9




= Joto] A9 AlFol HA stejal & of, F3
T Qe = FoA 7P #2 A==
@ 3 @ 5 3 12 ®)15 ® 20

60=22x3x5

Folol @ 71 2L AASE 3x5 =15




Q@ 7,11 © 8,15 © 9,21

® 15,22 @ 12,60 ® 11,121

© 9,21 9] ZjFofpE 3 o|B2 A2 47} oft,
® 12,60 9] FFFr 12 0|27 24T} ofrt),

® 11,121 o] gt 11 0|22 A 247} ofytt,
wheta] A 24Q1 F £7]8] A2 o) A2 9,0, 9 3 /oIt




Ch "
H =

[ 2
> H=g 80

~&B

2)16 40
2) 8 20
2) 4 10

2 5

HaFHE  2x2x2x2%x5 =80




—_

7
e

—

72, Al2o] do|7t Z+7t 48m, 32m ¢ AA}ZEE moFo] Zho]
7} A e of] L7 Ao URE Hog 1 gt} Y BFolof:
HEA] YRS Alojof gt} o]nf|, YF 745 7Hssh A7 o= 1L
S o, U5 Ato] 9] 7hA-29

=

D 14m @16m ® 18m @ 20m ® 22m

S5 ‘
U Aol o] 2b22 x 2 &
48 =xXx0O, 32=xXA
+ 481} 329] FtjFofpolBz
8:24><3, 32 =2°
L x=2%=16 (m)




w7 2B 1.05m , A 2lE 1.35m , 2 @A 2E 1.5m 7} ot
22 cm S92 et E 5 e HE U2 St EA FEol
Uiro] = gt 2 o] A g2 AZ2EE ¥ cm 4
U0l & & eA] ot

2 p 27w,
S B 10cm

105, 135, 150 2] 24 15 0] 10515 = 7,135+ 15 =
9,150 + 15 = 10 ©]2& 15 ol A W7t 2|2 7cm , A
2 &2 9em , =2 FE 10cm A Uiro] & 4 Q)




10 = S
. -
F 24
5t LE}A
. a, b 2
| | oiF
TOFE 24
olct
. a
b
, 32 9
alL
& oF
"I‘E
= .E_E
T

>

it

i

0
AL
o

02
L
S

v
v
v
v v

i .

0
o
oS

a
il b‘(z'
32 9 G
oF T
2 Sy
i e igl ool
, ’ 32 O’ & 8’ 1 EE‘
: %Q;F_/'\—% " 1, 2, 3, 4
_1_:1 9 & 6
9 2 | 8
) , 12
, 8ot -




11. 9 2 o] BojAt % 4% A B o H4a3u47} 315 o o,
&A% (A, B)E LS Fojat

i

it

v vV v VvV Vv VvV VvV VvV VVYyVYyYVYVYVYVYVYYY
X
it

(9,315)
HE D (45,63)
HED (45,315)
HE D (63,315)
HE D (315,315)
HED (315,63)
HE D (315,45)
HED (63,45)
HED (315,9)

S5 \
A BERT 32242 7R Q1Y
315 =32x 5% 7 O]U_E._,
w2bA] 4482 (A, B) = (9,315), (45,63), (45,315), (63, 315),
(315,315), (315, 63), (315, 45), (63,45), (315,9) ©|t}.




12.

D 120 ® 121 ®)122 @ 123 ® 125

B ~
old AA5E x 2 5t x -2 = 5,6,8 o Fuoloh

5,6,8 9 HAFHj4= 120 o]B2 x — 2 = 120, 240, 360, - - -
ojtt,

x = 122,242,362, - 1¥ B2 7} e AL 192




